Calculate the circumference of the
circles below

acm

Calculate the following;
7

{a}g X 32
3

{h}ﬁ X 6

&
{C}E X 8

Bisect the angle below

Solve for x;
(a) Bx+3=21
(b) 2x+11=29

(c) 7x—1=48

&

BennettMaths

Grade 3 revision

A car travels 77Kmin 2 hours.
Calculate the average speed

A train drives at 50mph for 2.5 hours.
Calculate the distance of the journey.

Calculate the size of an interior for
each of the following shapes;

(a) Square
(b) Hexagon

(c) Octagon

Calculate;
(a) 8.2x2.9
(b) 7.7x6.3

(c) 0.6x0.8

(a) Share £92 in the ratio 3:1
(b) Share £63 in the ratio 4:3

(c) Share £84 in the ratio 5:3



